Additon 43

Worksheet-5

9 Word Problems on Addition :

¥ There are 264 oranges in a basket. Reema has
| added 182 more oranges. Find the total number
of oranges available in the basket.

| No. % OXohges = 622 6 “

 Reema has added = , _
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\2./ A shopkeeper sold 382 copies in first week and

284 copies in second week. Find the total number
of copies sold by the shopkeeper inthe two weeks.

Fisat Week= g 2.
Second Week= 42 34y
, TotaiNo. % COI)f S W

3. There are 725 students in a school. 187 more new
students have taken admission in new session.
How many students are there in the

;-;4. An office runs in two shifts. There are 482 employees .
s first shift and 394 in second shift. Find the total

1 " number of employees in the office. s
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